Quiz 8 (april 26, 2017) NAME: SO-QUT'iG-NS‘

Statistics for Social Science (201-401-DW)
Instructor: Emilie Richer

[QUESTION 1] (10 MARKS)

A study examined the time it takes for owners of hybrid vehicles to
recoup their initial cost through reduced fuel consumption. Suppose
that a random sample of 9 hybrid cars showed a mean time of 2.1
years. Assume that the population is normal with o = 0.2. Test using
level of significance o = 0.01 whether the population mean time it

takes owners of hybrid cars to recoup their initial cost is less than
three years.
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